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A _EHT 667 697 764 1461
= EH 61 65 90 155
A & 15 HT 16 20 24 44
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JU T 3k T 1232 1047 982 2029
ENFZ EF BT 39 43 42 85
T {Z BHET 28 39 36 75
iz R BT 632 352 614 966
FEAHT 40 49 46 95
H ERET 1158 922 1248 2170
EHET 790 929 778 1707
FHR T ET 736 733 724 1457
EJRHET 36 38 39 77
= HET 759 428 683 1111
= mAT 754 774 191 965
[ ansil 27 26 41 67
#n BS BT 58 61 57 118
Al F T 632 462 591 1053
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— BT 405 439 493 932
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Z A HT 246 253 200 453
= A HT 126 166 179 345
= HAT 266 230 306 536
{ERER 123 137 160 297
= BREHHET 287 324 319 643
R FEFET 143 149 157 306
= /& BT 15 17 24 41
2 NE] 74 101 102 203
LI T 201 280 254 534
7k JR BT 266 332 302 634
R ARET 378 487 503 990
R AT 157 158 167 325
EEHT 176 209 228 437
AN T 67 80 73 153
AR ARET 1111 1312 1368 2680
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A ET 180 187 203 390
FAHT 127 151 156 307
FEHET 110 128 139 267
B ENHET 87 115 105 220
BT HT 45 52 53 105
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£ Bk BT 50 64 58 122
{0 A< T 1616 1792 2006 3798
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